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(This question-cum answer booklet consists of 64 pages)

Sileyenyseir / Instructions

(DpSHBMIL  SipfleyengHene allemTeamT ILSIITS6T SHeupToeD | LemiBn GeuewiBLd)
(Candidates shall comply with the following instructions)

1. elewrewiugmyise, Geialem — alnL $a5M61 (HTGSUL LTSS 64 LSSHISEN6IT

OaTemIBhelTengl  CIRILIMS  (WPHeVeD. o - midl Gsmeiten ~Geuswihd.  BH6HTGLILT60
JCapamib  GempuTHLIder, © L elguitsds  OHTGLemn. . CHiteyd sHewmismenfliitien b
Gl QuBBISE\sTeiTer Gouewi(BLD.

Candidates shall first ensure that this question-cum-answer booklet contains
64 pages. In case, it any defect is found in this booklet, they can request for

replacement from the invigilator immediately.

I ALYIG;) alemalBELD 601 HFHENUITS allemL ST BHISHMBO\FH 601 @)L 1b
RSB (BHeTengl.  elewienILSTITH6T  @6albeuT(h alamalB@Hl  alledL weflds
R@IBSIILL BLHHd  wiGOw  alwLweildss  Couewipd.  allewlwelds
RISSILILL B H5HBE OeualGu eTenSHUD 61(1DSHDHILTHI.

Space has been provided to write the answer for each question. Candidates
have to answer the questions only in the space provided for that questions.

They should not write anything outside the space provided.

. alewren ILFHTITH6eN  alembFTefer  ealCeur@m  Uflaled  onSlemiSai Beiten
aTewienfidemauieonen  aleamebaendd@ WLGEWL aloLweids GCouedi(Bd. DSBS
WenasWmer  elewicnldbmauieoneal  alamedsEhdE — alenl Wealdhsmed,  @elbleumm
Lflaflest (wgalevid lenduiTer elemienidbemdulled allenl uleMebaLILL L enel  H6euTdad60
d(hSHGHH OBTaTenILL  LOTL L TS|

Candidates should answer as many number of questions as instructed in the
question paper in each section. If more than the required number of




questions are answered, the answers written at the end of each section will
not be taken into account.

. Baialem — alewLd OHTGLT60 alemeser SO WLHBDID YRS  algaIkISeTe0
® oileNiedl. SIMHH Bemideied SLmFHev eugaled SHIUUL (heiTtenm  GMILHGer
(LPIYEUTEITENGI.

In this question-cum-answer booklet, questions are in Tamil and English

versions. In all matters, English version is final.

. elewiewi ILSSHTITH6T BbdH eleomm — allewld CFHTSGHUNHHSH 6HHSH HTEN6ITULD
HPHFH L HInl_TH).

Candidates should not tear off any leaves from this question-cum-answer
booklet.

. B508xTemey  QUTBISHHUDT,  DIPBHTEH  GIBHIUSBBTHALD,  LIemPUNe060TLDEL
T(BISBHTHAD HNUITS LHICLGTIHET @HIHBLILIL A160686V.

There is no reservation of marks for-neatness of writing and correctness of
spelling in respect of this examination.

. R ILSTITH6NT  HlgHaBlgaileone alaimeddsendd ol wWeldb@Gh CuTIpSI
ShHeng  CuwengGuim, | LHGeImImETCWT  I(DHHIL TH. | HhISend  CLuifed
MBOWITILILOle 61D 9|aMILOF) U 1606m6V. SIGMAITMT60T 6T B ETHDS)
Lgleverlld@OILT(S) alemaseilsd GBI ILIL BeiTen. GUWT B®ID (WHeuflenwiGu
LWSTUGSHS Gouet(BLD.

V60T & & 61116V e, (LpSHaf] S FHUIma GBIUIL L ailevensvlulesiev,
‘OIIUBT “OumIBT (poafleseled o, 9, & SlLevd aHed UI BFL DILEVSDI
a1&610 61dbery Gumels. Gumgl Guwitedenet LB 61(ps Gouewr(BLD.

Candidates should not write their name, register number while answering
letter type questions. Putting signature in their name is also not permitted.

To answer such questions, the name & address given in the questions alone
should be used.

If no name is given in the questions, they should write the general names
like ABC or XYZ or XXX in “From” and “To” addresses.
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Svg — I
UNIT -1

Uifley — o
SECTION - A

@6lCeur elemalB@b 150 CFTBEEHSHE WETosD allenL wielobasaLb.
Answer not exceeding 150 words each
ealleuT® eleamalB@l UHSH LHLICLIEHISEIT.
Each question carries ten marks.
Qar@aHalIUBeiTen WbH lambsened eTmeuBueid BTG alamHsEnsHE
LG allenLwerflldseud
Answer any four questions out of five questions.
(4 x 10 = 40)

Explore the role employed bysthe Archaeological Survey of India (ASI) in
promoting cultural activities'and heritage preservation indndia?
BOhHwmalled SeOTFFTILEBHID LTFOUTul  BL 6y Henadedenen GLoIDLI(HHSHIeH 60
BhdHw QFHTevelluted Hiewm (ASI) ereiourm LURISTBBISBSHI?

Assess the.role of press in arousing awareness on the important social
issues in the nineteenth century.

LIS OB TEITUISTLD WITBBITEITL 63T (LP& S WILDT 60T Felpsll LNy & FemeviaperiieL
alPlliyewifenar gBLBSHSHUISHD DHHeie Lmiens WHULIBHS.

Highlight the aims and aspirations of early Congress Leaders.
OPHTLSHHHHT0  HTRIHTOV  HemeveuJHenen GCHTHEMIGET LOBBID  aN(HLILIGISENET
QDL

Discuss the significant contributions and impact of the Women's Indian
Association in Tamil Nadu, highlighting its role in empowering women.
SLODBHTL 196D GLIeuoT & 61T 63T (LpeaTGeuTBMmLD LoBMILD O EIQLEE))
9IFHFBMI06eNGHH60 10HeMT BhHul FhisHHer LURSeN] GHHH aleurd).

I am proud of being an Indian. I am a part of the indivisible unity that is
Indian nationality. I am indispensable to this noble edifice, and without
me this splendid structure of India is incomplete - comment

BTl @hHwemd @AmUudHed Gurmeno CaTeTaCmer. @bHul CHFwb eremm
dfiés wiewrs gbpmouis o6 UG BTar Gbs 2 g SHLSIBG
BT E&ISIWeDIOWITHEIGT, BT Beve0moed @bHwimaler HbH DIBLSHLOTE
SIGHLOLIL|  (LP(LPEDLOWIEDLWLITHI - SH(HHHIN]T D




10.

ifley — &
SECTION - B

Sl

il.

1ii.

@6l0euT(h alemalB@ld 250 CFTBHEHHEG LSBT allenL WiedaeaLb.

Answer not exceeding 250 words each.

@6QeuT(h alemalB@ID LUSHenebdl DSOS 6I

Each question carries fifteen marks.

CaThsslul Beten Wb alambseiled smauCueid BTG aleTTHHEHES

LB allenLWieMdbaEea]Lb.

Answer any four questions out of five questions.

(4 x15=60)

Explain the factors responsible for the recurrence of famines in the
nineteenth century. What are the remedial measures adopted by the
British Indian Government?
LUSHOSTAILSTD  HIBBTewNgeD  Wewi(B WenI(BLD|  LehFD  GMLIL.  SHTT6mILOT6
s1yenidemen alends@Gd. Uil nas @haul os sl Gurdss aHHmaul
BLAUQHMBHM6N GOm0 TenILIGI?

Examine the historical context and background of the 1909 ‘Act, analyze its
provisions, assess its significance and shortcomings.

19098110 | @B FLLSHHer  eugeonBmil  Uleietewi,  SIHeT  SwBIHeNT,
(PSHHWSSID, LOBBID GenBUTHSHET DYBUIAIBENB  61(LDSHIS.

Why did the Salt Laws become an important issue of Freedom struggle?

Analyse the factors responsible for the Civil Disobedience movement.
o IyF gLLES6T gl &FHhIHT CurpmiLddler wshawl LFFFleneiuins
wrdlwgl? FULpI] QuibsHHMBEG STTERTLOTET SHTJ6lHm6n HLUISH.

Give a detailed note on the Tribal uprisings against the British in the 18t
and 19t century.

18 wBmId 19 Sb HIBBTENNYED DYHIBGOWTHEHHEG 6THTTET LILDHIGIUT 60T 6ot
aWFFse uBB alfleurs 6110HIS

Explore the factors that led to Britain's decision to Quit India, and analyze
whether the partition of India was inevitable?

il e gt @bHwunaledmbs  CeuelCupwg?  Uflellewest  Haljobs
(PRQUWITSHSHT?

oG — 11
UNIT - 11
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Uifley — &
SECTION - A

@6lQeuT(h alemalB@ld 150 CFTBHEHDHEG LOSTOeD allenl wielldaeaLb.
Answer not exceeding 150 words each
@6l0uT(h alemalB@LD UHH! LOSHIICLICTHIHE.
Each question carries ten marks.
CaThsaluL Beten Wb alambseiled smeuBuanid BTG alalmedEhHdHE)
LGB allenL werildbseab
Answer any four questions out of five questions.
(4 x 10 = 40)

To what extent are domestic workers legally safeguarded in India?

Explore the existing protections granted to domesti¢ workers.
@phHwraled il (Bl  UeIWTEMTTHei&FLL LTINS UTSHISTSSILIGSBTTHenT?
SITHEHSHEG SBOUTHIGTT FLLLLUTSHISTLILST WITene?

“Empowering womenyis the key to control population growth”. Discuss
“OILIEwTEH 6THb (G, SIHBTILD auLpmIGHaIGH DS BH6ITOBHTEN D QUeT&FFlemuidh
& (BLILBGSSID | SHBaCHTen@Ld”. “aleurs)

Discuss 'the\ pivotal role played by non-governmental organizations
(NGOs) in the eradication of illiteracy.

(WS SBlaTeiienoent  QILILIGEL SIF& FTIT HBIeUEIRIGaT6T (pHaHU!  Likigerli
GBSS GBI UmTS

Terrorism and communalism are the biggest threat to the secular fabric of
India - Explain.

LWRISTTSHIPD  auGUUeUTSHIPD  @hHwimeale HFFTIUBB &L LamwlliBG
WsLOoUflW DIFFBISHHE0 - alendGHD

Enumerate the key highlights of the recently concluded Women 20

Summit 2023 held at Mahabalipuram.
Wa&TUILTSHHD FLOUSHe0 HoLOUBB OGuewideT 20 o FFwmpTG 2023-86r
Fplubgmisenet aleuf]

Ufley — &
SECTION -B

(ST

1.

@6llCeur elamalB@h 250 CFTBHEHHE WaTwsd allenL wiefobasab.
Answer not exceeding 250 words each.
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17.

18.
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20.

ii.

iii.

e6lCeuT elamalB@ LHMHhEHl LS ICILICHTISEN
Each question carries fifteen marks.
Qar@aHaIU.BeiTen WbH lambsened eTmeuBueid BI6IE alamHsEndHE
W G alenLwefsasaL.
Answer any four questions out of five questions.
(4 x15=060)

What is the POSH Act? Explain the Procedure for Complaint Against
Sexual Harassment at the Workplace and why has the Supreme Court
flagged lapses in its implementation?

POSH &L eemred eletenn? LewiulSH&He0 LTeTWIed  HITLBISHHeIHSES
REIE L|&BT(THEHEHT 60T DL (LPemMBENUL allens@G® LoBMILD Y0}
BOL (PMBLBGSHSHIUH60 2 6ol GHmBUTHEMeT o FFHHIDMIBD  eTelaUTH
&L 19S5STL(HFmSH!?

Throw light on the suicide prevention initiatives by the Government of

India with special reference to theNational Suicide Prevention Strategy.
Sbhglw OITFTEISHH D60 Ghgluw SHBOIBTEn60 SbLIL OameiTensulled
GBUIL L (Beiten HBOEGBTEM6L [ SBLIL| BLOUGSHNBHEI  UITeD6U?

Discuss the problem of Manual Scavenging in India
@bhgHwnalled elHd  Hlene 106 BT SiBBMILDL LUgFFenen LBM aleurd).

Give a detailed account on the efforts'taken by the Government of Tamil
Nadu to attain'the "Child Labour Free State "by the year 2025. What is the
status of child labour in Tamil Nadu.

2025910 ' QEWIYMBGSHET  GHHMHSH OHTPeoTen]  &eLevTH  LOTHIEVD  6TEIM
DHmd DML ISBHTE SOWHTH DITa eihdHDHlenen (wwpFser uppl alfleurs
(BHIB. FHLODBTLIGEL GHbHMSE CGHTIeVTeNT Hlemev wimgl?

a. Write a short note on Magilchi
wAPFS Giisa GBLY s

b. Write a short note on Paravai
Lpenel GBISHS GBI uenys

c. Write a short note on Drug Free Tamilnadu
Gumens OUTHLH6T &eveoT SHOWWETH GBHH GMBILIL DTS
(5+5+5)

Slevg — I11
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ii.

iii.

21.

UNIT - III

difley — &
SECTION - A

eelCeur alamalB@l 150 CFTBHEHSHE WSO 6llenL U6 &S6LD.
Answer not exceeding 150 words each
e6lleuTm elamalB@l UHSH LHLICLIEHISEIT.
Each question carries ten marks.
QasTBHHBLILIL([H6iTer eLpedTImI allenT b 61160 eTeneau@uignild Byewi®
alMEBEHbE LB el welldbsaib
Answer any two questions out of three questions.
(2 x10=20)

A shopkeeper allows a discount of 10% to his customers and still gains
20%. Find the marked price of an article which eosts X 450 to the
shopkeeper.

Ol QP BEDL BB - HET  QUTIQHMBWITNTHEHEHG- 10% HeiepLly SHhHEID
20% '@evorLildD. SjewL SlSTHTT. @ OLmhHefer 2. autanid alenev ¢h.450 eTefev,
SiLGUNmaTer GDlHSH aleneenuis Tewuls.

The height'and the radius of the base of a smaller right circular cone is
half the corresponding height and radius of another bigger cone. Find
the ratio of their volumes and the ratio of their curved surface areas.
m FBw  ChT euLdambiler SIgliuGHulledt SLJD  IOBBID 2 Wb
weBBw BeBTEH Guflw gnblilear SuIb WBHBID 2 Wb SiSluampied uTd
LG LD. Sleumnsleit BV D616 61T 60T A& HHMBHU|LD SloUmnsleor
aueneTUTLILB6M6T & HHNHUID HT6EwI5.

(5+5)

22.  The following table gives the lifetime of 500 CFL lamps

Life time (months) | 9 | 10 | 11 | 12 | 13 | 14 | More than 14

Number of Lamps | 26 | 71 | 82 | 102 | 89 | 77 53
A bulb is selected at random. Find the probability that the life time of the
selected bulb is
(i) exactly 11 months (ii) less than 12 months

(iii) more than 10 months  (iv) at most 12 months




(v) at least 13 months
500 fml Gwev alensGHerlei aumphTeT aleugd &G S (helTermer.

UMDBITGT 9 10 | 11 | 12 | 13 | 14 14 & aiL
(LT SHMISB61T6D) e
QIR EAGE 26 | 71 | 82 | 102 | 89 | 77 53
616001 6001 6561 &b

R B Gwed  ealendg BHHOHHHGHWLOUTH, HDSHEHTEWID  GUTLDHT6N
LIWGITUTL I9B&HT6  [HBLDSHHa6n60Td  BHIT6IH

1. gflwme 11 WTHBIS6NT 1. 12 OTHRIBEHHSGHD GMBeUTH
iii. 10 WTHBEIBEHHE DIHBIOTH iv. 9IHaU FID 12 OTSHHBISH6NT
V. GOBHSLLFD 13 DTSHHIB6IT

a. The product of Kumaran’s age (in years) two years ago and his age

four years from now is one more than twice his present age. What is
his present age?
9. Gyt  SBOUTMHU  euwder  B(HLMGCHTH « Q6TenBsS  Fnl 196IT60
SHenLLugl, GLogeiel @TeniLTeul(hdEheHE WhHmSW IS Sjeufler 4
MIBBEHSEGSE LHSHW! UIMSUD OLI(HESS  SHenLLILISBESGHF &L 6160160,
Slauflen SBCUTMHW ULNHHH BHT6wIH

b. Find the difference between simple interest and compound interest on
X 6,400 for 2 years at 6 %4% p. a. compounded annually.
o 640053 6% % ouemih ey oipld 2 SLEBHeNed HMLHGD gnl B
AU YSEGD Heall Ul IH@GLD 2 66 alGHHWTFID HT6ewIs

(5+5)

Lifley — o
SECTION - B

(ST

1. @6l0euT(h alemalB@l 250 CFTBHEHHEG LSBT allenL We&eeaLb.
Answer not exceeding 250 words each.

ii. @6UCauTH eleamalB@G LHenenbdl HICILIETHISH6NT
Each question carries fifteen marks.

1.  Gardssliul (Beiren eLPGIT e &H61160 eTemaUGuIgnILD Byeni(h
AlIMHEHEHHE L (B allenL werildbaeaLb.




24.

25.

Answer any two questions out of three questions.
(2 x15=230)

From the top of a 12 m high building, the angle of elevation of the top of a
cable tower is 60° and the angle of depression of its foot is 30°. Determine
the height of the tower and its distance from the building.

126 o wyapeiten &Ll SHFHar o FFAuledmba Weigngs Csmyy o Fdlule
gBmsBasrentd  60° wBEpId SiHer  Siguist  BpiasGatenid  30°  erefled,
Weitgmysd CamUrsdHler o wrsHmeHd &Tanid. Geuld SL 9L HHEO(HHIH  DIFH6T
SMTHNDH  HITCWI5b.

a. A rectangular field is of dimension 20 m x 15 m. Two paths run
parallel to the sides of the rectangle through the centre of the field. The
width of the longer path is 2 m and that of the shorter path is 1 m. Find
the area of the paths and thearea of the remaining portion of the field
9. R Felus Heoddle ufDTemideT 20 18 X 115 5. 9IH6T enowLD
APWTHAD, B USIHIBEHDHE CleMenILTHD . QMHBGHWTH  Syeni(h
LITENSHH6IT 2 _6iTeniedl. [HeONS 2 oilenl  UTenGHuledl oieeod 2 15 oBmid
GMBHS HEN(Lpeien UTeSHUlledr iBeod | 15 eleled, LTSHSH6MeT LFLILIENT6)
LOBBID HlevSHS el LOGUPeITen LiGSUlledr LITLILIGT6Y SHTewIdb.

b. A solid wooden toy is in the form of a cone surmounted on a
hemisphere: If the radii of the hemisphere and the base of the cone are
3.5 cm each and the total height of the toy is 17.5 cm, then find the

volume of wood used in the toy. [TakEH = %}

. @M  FHewio  wyluTbemwwiTergh  DmJsCasTensdHler  Ged  Fwlb
Bmenhd algaled 2 6Tendl. DMIHGHTEND IOBBID  Fnlbl|  SL&UIGIMAS6OT
o 3.5 GF.1b. Goab Gumbsmouler OTHsd o wgh 17.5 Q.15 eeled
SILoumben HWTNSHSL LWSTUGSSLILL L IOJHSHET H6 DIGTeN6USH  HT6wIH.

(7z=§ 61631

c. The diameter of a road roller of length 1.5 m is 84 cm. If it takes 100
complete revolutions to level a playground, then find the cost of

levelling it at the cost of 50 paise per square metre (Take;z = gj

®. 1.5 6. menupd, 84 OGFI6 ol L@pd OCHTEWL @M FTDEVENUI
FOUILBSHHID o mewetenwid (road roller) Gamewi® @b elenemum BHHIL 60
FOUUGSHSUILGSBSE.  alemenuwiT (s SHlLemwev FwlLUBHSHS Selemenen 100
(WPWFFBBIGH6T  Fipev  CouewiBd.  eledwm HHHLemev  FOILUGHS @




gUOLLMBSEG 50 ewugt eisld,

. 22 .
srenis. (7= = 61601 )

FLewed FILGSHS WG OFvmald

(5+5+5)

26. Find the HCF and LCM of 2,8 16 4ng 10

2 816

3'9'81
BTG,

—,—,— and —
3981 27

Logi3 @D g adweupper  18.0ur.s (HCF) wspo 8.6urwn (LCM)




